Inverse Laplace Marathon

(great for differential equations students)
Video: https://youtu.be/GxoyQemLuHS

@blackpen red pen
March 27rd, 2020


https://youtu.be/Gx6yQcmLuH8
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Q19.) y' +2y =sin(3t), y(0)=
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Q22.) y"+16y = cos(4t), y(0)=0, y'(0)=1
Q23) y'+y=U{E-23), y(0)=0, y'(0)=1
Qz24.) y"'—4y'+5y=0, y(0)=1, y'(0)=2
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(A19)) y' +2y =sin(3t), y(0)=0 Ans: y(t)= =
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A20) v —4y=3t*, y(0)=2, v'(0)=—4 Ans: y(t)= —e&"+ ¢
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(A21) y"—2y'—1By =0, y(0)=—-2, y'(0)=1 Ans: y(t)z_gew—ge“

(A22)) y"+16y = cos(4t), y(0)=0, y'(0)=1 Ans: y(t):%QiH(L"t)‘i‘étﬁiﬂ(é}'t)

(A22) y'+y=U({E-3), y(0O)=0, y'(0)=1  Ans: y(t)=sint+U(t—3)(1—cos(t —3))
(A24) y'—4y'+5y =0, y(O)=1, y'(0)=2  Ans: y(t)=¢e"cost



